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I. (a) Give the format of vertical Balance Sheet as per Revised Schedule-6 of the

(b)

Companies Act.

OR

Briefly explain the users and uses of Accounting information.

What is [FRS ? Discuss the Scope and requirement of [FRS.

OR

Explain the concept of Accounting Standard and discuss the usefulness of
Accounting Standard.

2. From the following particulars, prepare the Balance Sheet of Gaurang Trading Co. Ltd.

as on 31% March, 2017.

(D Current Ratio

) Working Capital

3) Capital Block/Current Assets

@)} Fixed Assets/Turnover

&) Cash Sales : Credit sales

(6) Stock velocity

@) Creditor’s velocity

®) Debtor’s velocity

9 Net Profit (of sales)

(10). Reserve (of sales)

(11). Debentures/Share Capital

(12)  Gross Profit Ratio
JC-101
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1:2

2 months

2 months

3 months
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2.5% of Turnover
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2. Prepare Cash Flow Statement from the Balance Sheets of Pragnesh Limited as on

31-3-2016 and 31-3-2017 as per Accounting Standard No. 3. 14
31-3-16 | 31-3-17 31-3-16 | 31-3-17
Liabilities Assets
4 4 4 4

Equity shares of ¥ 10 each | 4,00,000 | 6,00,000 | Goodwill 1,60,000 | 1,20,000
fully paid
Preference Share Capital Building 3,20,000 | 5,00.000
¥ 10 cach, T7 paid 1,40,000 - Machinery 2,80,000 |4 400,000
Securities premium 30,000 20,000 | Investments 80,000 -
Reserves 1,60,000 | 1,00,000 | Stock 60,000 | 1,00,000
Profit and Loss A/c. 70,000 | 1,50,000 | Debtors 88.000 80,000
4% debentures - 2,00,000 | Bills Receivable 20,000 20,000
Creditors 1,00,000 | 1,20,000 | Cash 20,000 22,000
Bills payable 40,000 - Bank - 80,000
Tax provision 48,000 60,000
Proposed dividend 40,000 72,000

10,28,000 | 13,22,000 10,28,000 | 13,22,000

Additional information :

(D
% 50,000.

2)

Depreciation provided during the year for Building is ¥ 60,000 and Machinery

After fulfilment of Companies Act provisions, Preference Shares are redeemed at

5% Redemption Premium; ¥ 2,00,000 is transferred from General Reserve to
Capital Redemption Fund.

3)
(4)

Capital Redemption Fund.

©)
(6)

JC-101
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Debentures of ¥ 2,00,000 are issued at 5% discount.

Investments are sold at a profit of 20% on selling price.

The company has issued Bonus shares at 2 : 1 to present equity shareholders from

Income tax paid ¥ 50,000 and proposed dividend of previous year is also paid.



3. The Balance Sheet of Divyang Limited as on 1-4-2016 and Income Statement for the
year ending 31-3-2017 are as under.

Balance Sheet as on 1-4-2016

Liabilities 4 Assets 4
Equity Share Capital | 3,00,000 | Machinery 2,64,000
13.5% Debentures 60,000 | Stock 36,000
Creditors 60,000 | Debtors 60,000
Cash and Bank Balance | 60,000
4,20,000 4,20,000
Income Statement for the year ending 31-3-2017
Particulars 4 4
Sales 4,80,000
Less : Cost of Goods Sold :
Opening Stock (FIFO) 36,000
+ Purchase 1,44,000
1,80,000
— Closing Stock (FIFO) —30,000 | 1,50,000
Gross Profit on sales 3,30,000
Less : Administrative expenses 72,000
Depreciation 26,400
Debenture Interest (Paid on 31-3-2017) 8,100 | 1,06,500
Retained earnings 2,23,500

14

During the year there:is no change in the balances of Debtors and Creditors. General
Price Index Numbers was as under :

15 April, 2016 280

Average during the year 350
315 March; 2017 420

JC-101

Prepare Final Accounts for the year ending 31-3-2017 as per Current Purchasing
Power Method (CPP) after giving effects of changes in general price level.
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3. Write notes on : (any two)

(M
2)
)
“4)

Importance of Human Resource Accounting.
Limitations of Environment Accounting.
Models of Social Accounting.

Value Added Concept.

4. Karm Limited manufactures a machine which has a variable cost structure as follows::

Per Unit (%)
Material 80
Labour 20
Overheads 8
108

Sales during the current year are expected to be ¥ 27,00,000 at selling price ¥ 180

per unit and Fixed Overheads % 2,80,000.

Under a wage agreement, an increase of 10% is payable to all direct workers from

the beginning of the next year, while the Material Costs are expected to increase by

7.5%, variable Overheads costs by 5% and Fixed Overhead costs by 3%.

(1

2)

4o ()

(B)
JC-101

You are required to calculate :

The new Selling Price if the current year’s Profit-Volume Ratio is to be

maintained in the next year, and

The quantity to be sold during the next year to yield the same amount of profit as

the current year, assuming the selling price is to remain at ¥ 180.
OR
What is Zero based budgeting ? State its Advantages and Limitations.

Explain the limitations of Breakeven analysis.
12
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5. Select appropriate alternative :
(1) Audit of Human Resources Accounts is compulsory for
(a)  Sole proprietorship (b) Partnership firm
(c) Company (d) None of the above

(2) Give Full form of IASB :
(a) International Accounting Standard Board
(b) International Accounting Security Board
(¢) International Accounting Service Board
(d) None of the above

(3) From the following information, calculate profit :
sales ¥ 16,00,000.
Variable cost ¥ 12,00,000
Break-even sales 3 12,00,000
(a 1,00,000 (b) © %2,00,000
(¢) 50,000 (d)31,50,000

(4) Accounting for amalgamation is dealt with by
(a) AS-14 (b) AS-10
(c) AS-9 (d) AS-13

(5) Cash Receipts from issue of Debentures is
(a) a financing activity (b) an investing activity

(c) an operating activity (d) None of the above

(6). While preparing value added statement, which of the following is not shown
under the heading of value added retained by the business ?

(a) « Transfer to General Reserve

(b) Transfer to Fixed Assets Replacement Reserve
(c) Bad Debt Reserve

(d) None of the above

14
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(11)
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Calculate Gearing Ratio from the following information :

Equity share capital : 20,000 equity shares of ¥ 10 each.
15% Debentures . ¥3,00,000

12% Preference Share Capital : 1000 shares of ¥ 100 each.

(@ 1 (b) 5

() 2 (d) None of the above

AS-12 deals with

(a)  Accounting of Foreign Exchange
(b)  Accounting of Borrowing Cost

(¢)  Accounting of Government Grants

(d) None of the above

The excess of current assets over current debts is called
(a) Sharcholder’s Fund (b) - Net Liability

(c) Working Capital (d) Net Fixed Assets

If opening stock is ¥ 40,000 less than the closing stock, purchase is % 6,40,000,
Closing stock is'¥ 2,00,000 and sales is ¥ 8,00,000, then gross profit ratio will be

() 20% (b)  25%

©) 33% % (d) None of the above

If P.V. Ratio is 40%, Margin of safety is 30% and sales is ¥ 20,00,000, amount of
fixed cost will be

() % 8,00,000 (b) ¥5.60,000
() % 12,00,000 (d) ¥ 14,00,000

14



(12) From which date Indian Accounting Standard No.9 is come into force mandatory
to all types of Companies ?

(@) 1-4-1993 (b) 1-4-1991
) 1-4-1992 d)  1-4-1990

(13) 2,00,000 equity shares of ¥ 10 each X 8 paid up and 10% is the interim dividend,
then the amount of dividend will be

(a) 80,000 (b) % 1,60,000
() %2,00,000 () % 1,80,000

(14) Which of the following item is considered as “Contingent Liability” for a
company ?

(a) Proposed Dividend
(b)  Unpaid dividend on Cumulative Preference Shares
(¢) Unclaimed dividend

(d) Provision for taxes
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